TH2EE /MNET KERERR

LK (BK) R T H

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.4.22 R2.5.19 R2.6.3 R2.7.8 R2.8.11 R2.9.2 R2.10.7 R2.11.24 R2.12.7 R3.1.6 R3.2.19 R3.3.3

Rig — E-Y) Y H i H H g g g gL = i el
BRIk R 8:13 6:19 7:10 7:24 6:11 7:19 7:07 6:04 7:34 7:17 6:12 7:33 =

IR °C 10.0 17.0 20.0 22.0 30.0 29.0 15.0 7.0 5.0 3.0 2.0 4.0

R C 15.3 15.7 16.0 16.0 16.6 16.5 17.9 15.9 15.9 14.8 15.7 15.1

— XA & /ml 0 =  100f&
N — R N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YV R OEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTALAAY ROMEEY Ty mg/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.42 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
FUFELPZDOLEY mg/1 < 0.1 = 1
PuEAb R 3R mg/I < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
¥ A-1,2- o xFlLy RN Y A-1,2-5 JonxFLy mg/l < 0004 g 004
vyanply mg/I < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
Mooz FL mg/| < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jaugkvh mg/1 = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
B OZEDILED mg/I < 0.03 = 0.3
i X DAY mg/1 0.01 = 1
FNYLE BZDLEY mg/1 7.0 = 200
Y R OEDILAE Y mg/1 < 0.005 = 0.05
kAt mg/1 9.0 = 200
AVYYL TRV LERE)  mg/l 32 = 300
FERIREY mg/1 84 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l 0.4 = 3
pH/E — 6.8 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — HERL BTN
(=N £ < 0.5 = 5
B E < 0.1 = 2
R f#,/ml 0 0 0 0 0 0 0 0 0 0 0 0

PV 7 PR Y A

K — A A H A A A A A A A A A A




THEE /NET KERERR

JKER K& (BK) RT3

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.4.22 R2.5.19 R2.6.3 R2.7.8 R2.8.11 R2.9.2 R2.10.7 R2.11.24 R2.12.7 R3.1.6 R3.2.19 R3.3.3

Rig — E-Y) Y B i H H g g g [ E gL S
ERK R 7:42 8:22 6:44 6:39 5:45 6:41 6:43 11:35 7:02 6:47 5:57 6:50 =

IR °C 10.0 18.0 19.0 22.0 30.0 29.0 15.0 13.0 5.0 4.0 2.0 4.0

R C 14.4 15.2 15.1 15.4 15.8 15.7 15.4 15.3 14.6 14.1 14.1 14.4

— XA &l /ml 250 = 100fH
N — R N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YV R OEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTALAAY ROMEEY Ty mg/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.58 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
FUFELPZDOLEY mg/1 < 0.1 = 1
UGl R 3 mg/I < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
v A-1,2-Y " yonxLy R UM A-1,2-Y JonzFLy mg/l < 0004 g 004
vyanply mg/I < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
N JuozFL mg/l < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jaugkvh mg/1 = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
B OZEDILED mg/1 < 0.03 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 12.0 = 200
Y R OEDILAE Y mg/1 < 0.005 = 0.05
kAt mg/1 8.0 = 200
AVYYL TRV LERE)  mg/l 34 = 300
FERIREY mg/1 75 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l 0.3 = 3
pH/E — 6.8 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — HERL BTN
(=N £ < 0.5 = 5
B E < 0.1 = 2
R f#,/ml 0 0 0 0 0 0 0 0 0 0 0 0

PV 7 PR Y A

K — A A H A A A A A A A A A A




THEE /MNET KERERR

= EKE (RK) AR TH

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.4.22 R2.5.19 R2.6.3 R2.7.8 R2.8.11 R2.9.2 R2.10.7 R2.11.24 R2.12.7 R3.1.6 R3.2.19 R3.3.3

Rig — E-Y) Y H i H H g g g gL = i el
PR R 10:49 11:02 10:40 10:45 11:57 10:46 10:40 10:03 11:15 10:47 11:05 10:39 =

IR °C 11.0 22.0 26.0 27.0 34.0 33.0 21.0 9.0 9.0 6.0 2.0 5.0

R C 13.0 15.9 16.1 14.9 19.1 16.5 15.4 16.9 15.3 15.9 14.9 15.0

— XA & /ml 0 =  100f&
K — R N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YV R OEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTAARY ROy Ty me/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.53 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
FUFELPZDOLEY mg/1 < 0.1 = 1
UGl R 3 mg/I < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
¥ A-1,2- o xFlLy RN Y A-1,2-5 JonxFLy mg/l < 0004 g 004
vyanply mg/I < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
Mooz FL mg/| < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jaugkvh mg/1 = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
B OZEDILED mg/I < 0.03 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 7.0 = 200
Y R OEDILAE Y mg/1 < 0.005 = 0.05
kAt mg/1 8.0 = 200
AVYYL TRV LERE)  mg/l 44 = 300
FERIREY mg/1 84 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l < 0.3 = 3
pH/E — 6.8 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — HERL BTN
(=N £ < 0.5 = 5
B E < 0.1 = 2
R f#,/ml 0 0 0 0 0 0 0 0 0 0 0 0

PV 7 PR Y A

K — A A H A A A A A A A A A A




THEE /NET KERERR

A EEEKE (FK) R TH

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.4.22 R2.5.19 R2.6.3 R2.7.8 R2.8.11 R2.9.2 R2.10.7 R2.11.24 R2.12.7 R3.1.6 R3.2.19 R3.3.3

Rig — E-Y) Y B i H H g g g [ E i el
ERK R 10:03 8:55 9:52 10:00 8:57 9:58 9:54 9:10 10:25 10:03 9:00 9:53 =

IR °C 10.0 19.0 26.0 26.0 31.0 32.0 19.0 8.0 7.0 5.0 1.0 4.0

R C 13.8 13.0 13.0 12.5 14.4 16.1 17.2 18.5 18.7 18.5 15.6 15.6

— XA & /ml 0 =  100f&
N — R N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YV R OEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTALAAY ROMEEY Ty mg/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.37 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
FUFELPZDOLEY mg/1 < 0.1 = 1
UGl R 3 mg/I < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
v A-1,2-Y " yonxLy R UM A-1,2-Y JonzFLy mg/l < 0004 g 004
vyanply mg/I < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
Mooz FL mg/| < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jaugkvh mg/1 = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
B OZEDILED mg/1 < 0.03 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 6.0 = 200
Y R OEDILAE Y mg/1 < 0.005 = 0.05
kAt mg/1 8.0 = 200
AVYYL TRV LERE)  mg/l 25 = 300
FERIREY mg/1 94 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l < 0.3 = 3
pH/E — 6.9 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — HERL BTN
(=N £ < 0.5 = 5
B E < 0.1 = 2
R f#,/ml 0 0 0 0 0 0 0 0 0 0 0 0

PV 7 PR Y A

K — A A H A A A A A A A A A A




THEE MNET KERERR

mABAHE (RK) R TH#

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.8.11

ERT - Ll e
BRI 557 EE
EtiT C 30.0

K C 15.2

— XA &l /ml 3 = 100fH
K — R N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YV R OEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTAARY ROy Ty me/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.46 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
FUFELPZDOLEY mg/1 < 0.1 = 1
UGl R 3 mg/I < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
YA V' oty RN A-1,2- JonxFly mg/l < 0004 g 004
Vyaa Ay mg/1 < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
Mooz FL mg/| < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jauiilh mg/| = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
B OZEDILED mg/I < 0.03 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 7.0 = 200
Y R OEDILAE Y mg/1 < 0.005 = 0.05
kAt mg/1 7.0 = 200
AVYYL TRV LERE)  mg/l 36 = 300
FERIREY mg/1 110 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l 0.4 = 3
pH/E — 6.8 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — HERL BTN
(=N B < 0.5 = 5
B E 0.3 = 2
R S R il /ml 0

PV 7 PR Y A

K — A




SM2EE /IVE™ KERERKR
RmE S KE (RK) - 5EKH

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.5.19 R2.8.11 R2.11.24 R3.2.19

Rig - Y HAL g E ke

FR K R 13:31 14:25 11:01 11:41 HAEAE
IR °C 24.0 35.0 12.0 3.0

K C 15.7 21.8 17.4 15.6

— XA & /ml 0 =  100f&
K — R N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YV R OEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTAARY ROy Ty me/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.66 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
FUFELPZDOLEY mg/1 < 0.1 = 1
UGl R 3 mg/I < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
YA V' oty RN A-1,2- JonxFly mg/l < 0004 g 004
Vyaa Ay mg/1 < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
Mooz FL mg/| < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jauiilh mg/| = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
B OZEDILED mg/I < 0.03 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 10.0 = 200
Y R OEDILAE Y mg/1 0.012 = 0.05
WAt mg/1 13.0 = 200
AVYYL TRV LERE)  mg/l 26 = 300
FERIREY mg/1 77 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l 0.3 = 3
pH/E — 5.8 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — HERL BTN
(=N B < 0.5 = 5
B E < 0.1 = 2
R S R il /ml 0 0 0 0

PV 7 PR Y A

K — A H A T A




SM2EE /IVE™ KERERKR
AR ZKE (RK) (EKHE

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.5.19 R2.8.11 R2.11.24 R3.2.19

Rig - Y HAL g E ke

FR K R 5:56 5:19 5:40 5:33 A
IR °C 16.0 30.0 6.0 2.0

K C 14.5 21.9 11.5 5.1

— XA &l /ml 310 = 100fH
K — g N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YV R OEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTAARY ROy Ty me/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.36 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
FUFELPZDOLEY mg/1 < 0.1 = 1
UGl R 3 mg/I < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
YA V' oty RN A-1,2- JonxFly mg/l < 0004 g 004
Vyaa Ay mg/1 < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
N JuozFL mg/l < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jaugkvh mg/1 = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l 0.03 = 0.2
B OZEDILED mg/I < 0.03 = 0.3
8} DAL G mg/1 0.01 = 1
FNYLE BZDLEY mg/1 8.0 = 200
Y R OEDILAE Y mg/1 < 0.005 = 0.05
WAt mg/1 15.0 = 200
AVYYL TRV LERE)  mg/l 13 = 300
FERIREY mg/1 73 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l 1.0 = 3
pH/E — 6.2 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
A — et 5 B TRV E
(=N B 4.9 = 5
B E 1.6 = 2
R S R il /ml 2 1 i 0

PV 7 PR Y A

K — [ [ B ] f




THEE /MNET KERERR
b B85 5 oKiE (K Ry T3

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.5.19 R2.8.11 R2.11.24 R3.2.19

Rig - Y HAL g E ke

FR K R 13:20 14:39 10:47 11:31 A
IR °C 24.0 35.0 11.0 3.0

K C 16.0 17.1 16.2 15.5

— XA & /ml 0 =  100f&
K — R N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YLy R OFEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTAARY ROy Ty me/l < 0.001 = 0.0l
MEIER R R O REER  mg/] < 0.00 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
RUF R OZDILED mg/1 < 0.1 = 1
UGl R 3 mg/1 < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
YA V' oty RN A-1,2- JonxFly mg/l < 0004 g 004
Vyaa Ay mg/1 < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
Mooz FL mg/| < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jauiilh mg/| = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
R OZEDEY mg/1 0.20 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 14.0 = 200
Y R OEDILAE Y mg/1 0.490 = 0.05
WAt mg/1 22.0 = 200
AVYYL TRV LERE)  mg/l 57 = 300
FERIREY mg/1 130 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l < 0.3 = 3
pH/E — 6.0 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — HERL BTN
B B 49.0 = 5
B E 19.0 = 2
R S R il /ml 0 0 0 0

PV 7 PR Y A

K — A H AR T A




TH2EE NET KERERR
PEF/N I S 7KiE (FRK) AR T

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.8.11

Rig - B .
BT 13:13 i
EtiT C 35.0

K C 17.5

— XA & /ml 0 =  100f&
PN A — R N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YV R OEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
VT ALY OV Ty mg/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.52 =< 10
T9F R OZDILEY mg/1 0.21 = 0.8
FUFELPZDOLEY mg/1 < 0.1 = 1
UGl R 3 mg/I < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
YA V' oty RN A-1,2- JonxFly mg/l < 0004 g 004
Vyaa Ay mg/1 < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
Mooz FL mg/| < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jaugkvh mg/1 = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
R OZEDEY mg/1 0.19 = 0.3
i X DAY mg/1 0.01 = 1
FNYLE BZDLEY mg/1 16.0 = 200
Y R OEDILAE Y mg/1 0.010 = 0.05
WAt mg/1 26.0 = 200
AVYYL TRV LERE)  mg/l 27 = 300
FERIREY mg/1 100 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l 0.8 = 3
pH/E — 6.2 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
A — et 5 B TRV E
(=N B 6.0 = 5
B E 1.5 = 2
R S R il /ml 0

PV 7 PR Y A

K — A




TH2EE /NET KERERER
FARZKE(RK) : HBHAD

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.5.19 R2.8.11 R2.11.24 R3.2.19

Rig - Y HAL g E ke

FR K R 13:46 14:02 10:30 12:00 A
IR °C 24.0 34.0 11.0 3.0

K C 14.1 18.5 14.5 11.3

— XA &l /ml 85 = 100fH
K — g N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YLy R OFEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTAARY ROy Ty me/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.51 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
RUF R OZDILED mg/1 < 0.1 = 1
UGl R 3 mg/1 < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
YA V' oty RN A-1,2- JonxFly mg/l < 0004 g 004
Vyaa Ay mg/1 < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
N JuozFL mg/l < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jaugkvh mg/1 = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l 0.08 = 0.2
R OZEDEY mg/1 0.14 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 13.0 = 200
SUhV R OVEDALE Y mg/1 0.092 = 0.05
WAt mg/1 20.0 = 200
AVYYL TRV LERE)  mg/l 42 = 300
FERIREY mg/1 120 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l 0.7 = 3
pH/E — 6.1 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — HERL BTN
(=N B 5.2 = 5
B E 3.7 = 2
R S R il /ml 0 1 i 0

PV 7 PR Y A

K — i o f A




THEE MNET KERERR

HE@SKE(RK) :A—N—oD0—%

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.4.22 R2.5.19 R2.6.3 R2.7.8 R2.8.11 R2.9.2 R2.10.7 R2.11.24 R2.12.7 R3.1.6 R3.2.19 R3.3.3

Rig — E-Y) Y H i H H g g g i E gL S
BRIk R 6:03 5:31 5:12 5:05 4:57 5:13 4:58 5:15 5:10 5:02 5:10 5:10 =

IR °C 9.0 16.0 18.0 22.0 30.0 26.0 13.0 6.0 5.0 3.0 2.0 4.0

R C 11.5 13.5 13.5 14.5 15.2 15.5 14.3 12.7 12.2 10.7 10.5 11.0

— XA & /ml 40 =  100f&
K — g N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YV R OEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTAARY ROy Ty me/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 1.30 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
FUFELPZDOLEY mg/1 < 0.1 = 1
UGl R 3 mg/I < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
¥ A-1,2- o xFlLy RN Y A-1,2-5 JonxFLy mg/l < 0004 g 004
vyanply mg/I < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
Mooz FL mg/| < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jaugkvh mg/1 = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/| = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
B OZEDILED mg/I < 0.03 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 8.0 = 200
Y R OEDILAE Y mg/1 < 0.005 = 0.05
ety mg/1 14.0 = 200
AVYYL TRV LERE)  mg/l 57 = 300
FERIREY mg/1 110 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l 0.5 = 3
pH/E — 6.4 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — HERL BTN
(=N B < 0.5 = 5
B E 0.3 = 2
R f#,/ml 0 0 0 0 0 0 0 0 0 0 0 0

PVTMAKY Y A /201 0 0 0 0

K — A [ i f [ A f f A A A A




THEE MNET KERERR
= = 5 7kiE (R AR T3

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.8.11

ERT - Ll e
BRI 14:58 EE
EtiT C 35.0

K C 16.5

— XA & /ml 0 =  100f&
K — R N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YV R OEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTAARY ROy Ty me/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.51 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
FUFELPZDOLEY mg/1 < 0.1 = 1
UGl R 3 mg/I < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
YA V' oty RN A-1,2- JonxFly mg/l < 0004 g 004
Vyaa Ay mg/1 < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
Mooz FL mg/| < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jauiilh mg/| = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
B OZEDILED mg/I < 0.03 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 6.0 = 200
Y R OEDILAE Y mg/1 < 0.005 = 0.05
kAt mg/1 7.0 = 200
AVYYL TRV LERE)  mg/l 39 = 300
FERIREY mg/1 72 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l < 0.3 = 3
pH/E — 6.6 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
A — et 5 B TRV E
(=N B < 0.5 = 5
B E < 0.1 = 2
R S R il /ml 0

PV 7 PR Y A

K — A




THEE /MNET KERERR
ABREHFHKE (FRK) : D@t

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.5.19 R2.8.11 R2.11.24 R3.2.19

Rig - Y HAL g E ke

FR K R 8:01 8:16 7:44 6:41 A
EtiT C 17.0 30.0 7.0 1.0

R °C 14.4 19.5 13.2 8.6

— XA &l /ml 36 = 100fH
K — R N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YLy R OFEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTAARY ROy Ty me/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.30 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
RUF R OZDILED mg/1 < 0.1 = 1
UGl R 3 mg/I < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
YA V' oty RN A-1,2- JonxFly mg/l < 0004 g 004
Vyaa Ay mg/1 < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
Mooz FL mg/| < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jauiilh mg/| = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
B OZEDILED mg/I < 0.03 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 10.0 = 200
Y R OEDILAE Y mg/1 < 0.005 = 0.05
WAt mg/1 13.0 = 200
AVYYL TRV LERE)  mg/l 44 = 300
FERIREY mg/1 97 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l 1.1 = 3
pH/E — 6.6 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — JEE IR R B TRV E
(=N B 1.0 = 5
B E 0.8 = 2
R S R il /ml 0 0 0 0

PV 7 PR Y A

K — AR A f f




THEE /MNET KERERR

=) ZKE RK) R TH

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.8.11

ERT - i e
BOATEH 11:39 R
EtiT C 33.0

K C 18.9

— XA & /ml 0 =  100f&
PN A — R N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YV R OEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
VT ALY OV Ty mg/l < 0.001 = 0.0l
MEIER R R O REER  mg/] < 0.05 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
FUFELPZDOLEY mg/1 < 0.1 = 1
UGl R 3 mg/I < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
YA V' oty RN A-1,2- JonxFly mg/l < 0004 g 004
Vyaa Ay mg/1 < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
Mooz FL mg/| < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jaugkvh mg/1 = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/| = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
B OZEDILED mg/I < 0.03 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 16.0 = 200
Y R OEDILAE Y mg/1 < 0.005 = 0.05
WAt mg/1 10.0 = 200
AVYYL TRV LERE)  mg/l 34 = 300
FERIREY mg/1 100 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l < 0.3 = 3
pH/E — 6.7 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — HERL BTN
(=N B < 0.5 = 5
B E < 0.1 = 2
R S R il /ml 0

PV 7 PR Y A

K — A




THEE MNET KERERR

FIaT =5 —f5KE (RK) A —N—on—&

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.4.22 R2.5.19 R2.6.3 R2.7.8 R2.8.11 R2.9.2 R2.10.7 R2.11.24 R2.12.7 R3.1.6 R3.2.19 R3.3.3

Rig — E-Y) Y H i H H g g g i E gL S
BRIk R 8:43 7:13 8:10 8:23 7:45 8:27 8:30 7:19 8:58 8:48 7:14 8:50 =

IR °C 9.0 17.0 20.0 22.0 30.0 29.0 15.0 7.0 4.0 2.0 1.0 3.0

R C 11.3 12.9 13.3 14.5 14.8 14.9 14.0 12.5 11.2 10.5 10.5 10.9

— XA &l /ml 36 = 100fH
K — R N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YV R OEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTAARY ROy Ty me/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.20 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
FUFELPZDOLEY mg/1 < 0.1 = 1
PuEAb R 3R mg/I < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
¥ A-1,2- o xFlLy RN Y A-1,2-5 JonxFLy mg/l < 0004 g 004
vyanply mg/I < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
Mooz FL mg/| < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jaugkvh mg/1 = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
B OZEDILED mg/I < 0.03 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 5.0 = 200
Y R OEDILAE Y mg/1 < 0.005 = 0.05
ety mg/1 64.0 = 200
AVYYL TRV LERE)  mg/l 32 = 300
FERIREY mg/1 95 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l < 0.3 = 3
pH/E — 6.7 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — HERL BTN
(=N B < 0.5 = 5
B E < 0.1 = 2
R f#,/ml 0 0 0 0 0 0 0 0 0 0 0 0

PVTMAKY Y A /201 0 0 0 0

K — A A H i f A f f f A A A A




THEE /MNET KERERR

Al R 5 7K (RK) R T

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.4.22 R2.5.19 R2.6.3 R2.7.8 R2.8.11 R2.9.2 R2.10.7 R2.11.24 R2.12.7 R3.1.6 R3.2.19 R3.3.3

Rig — =D Y B i H H g g g [ E i el
ERK R 10:28 10:41 10:20 10:26 11:13 10:25 10:22 9:44 10:53 10:26 10:50 10:20 =

IR °C 9.0 22.0 25.0 26.0 33.0 32.0 19.0 9.0 8.0 3.0 1.0 4.0

R C 9.8 13.6 12.8 14.9 17.5 16.2 19.0 15.5 14.5 12.5 9.1 9.6

— XA & /ml 0 =  100f&
N — R N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YV R OEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTALAAY ROMEEY Ty mg/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.56 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
FUFELPZDOLEY mg/1 < 0.1 = 1
UGl R 3 mg/I < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
v A-1,2-Y " yonxLy R UM A-1,2-Y JonzFLy mg/l < 0004 g 004
vyanply mg/I < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
Mooz FL mg/| < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jaugkvh mg/1 = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
B OZEDILED mg/1 < 0.03 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 5.0 = 200
Y R OEDILAE Y mg/1 < 0.005 = 0.05
kAt mg/1 7.0 = 200
AVYYL TRV LERE)  mg/l 40 = 300
FERIREY mg/1 89 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l < 0.3 = 3
pH/E — 6.8 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — HERL BTN
(=N B < 0.5 = 5
B E < 0.1 = 2
R f#,/ml 0 0 0 0 0 0 0 0 0 0 0 0

PVTMAKY Y A /201 0 0 0 0

K — A A H A f A A A A A A A A




THEE /MNET KERERR
OE# FEESKERK) R TH#

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.5.19 R2.8.11 R2.11.24 R3.2.19

Rig - Y HAL g E ke

FR K R 10:07 10:42 13:17 10:16 A
IR °C 21.0 33.0 14.0 1.0

K C 14.5 19.5 16.8 11.3

— XA & /ml 0 =  100f&
K — R N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YLy R OFEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTAARY ROy Ty me/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.46 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
RUF R OZDILED mg/1 < 0.1 = 1
UGl R 3 mg/1 < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
YA V' oty RN A-1,2- JonxFly mg/l < 0004 g 004
Vyaa Ay mg/1 < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
Mooz FL mg/| < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jaugkvh mg/1 = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
B OZEDILED mg/I < 0.03 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 7.0 = 200
Y R OEDILAE Y mg/1 < 0.005 = 0.05
WAt mg/1 10.0 = 200
AVYYL TRV LERE)  mg/l 33 = 300
FERIREY mg/1 73 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l < 0.3 = 3
pH/E — 6.8 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — HERL BTN
(=N B < 0.5 = 5
B E < 0.1 = 2
R S R il /ml 0 0 0 0

PV 7 PR Y A

K — A H AR T A




SM2EE /IVE™ KERERKR
TR KR S KE (JRK) : [RAKERKD

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.5.19 R2.8.11 R2.11.24 R3.2.19

Rig - Y HAL g E ke

FR K R 6:55 7:23 6:43 8:00 A
EtiT C 17.0 30.0 7.0 0.0

K C 14.1 18.8 13.6 8.6

— XA &l /ml 3 = 100fH
K — R N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YLy R OFEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTAARY ROy Ty me/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.57 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
RUF R OZDILED mg/1 < 0.1 = 1
UGl R 3 mg/I < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
YA V' oty RN A-1,2- JonxFly mg/l < 0004 g 004
Vyaa Ay mg/1 < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
Mooz FL mg/| < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jauiilh mg/| = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
B OZEDILED mg/I < 0.03 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 5.0 = 200
Y R OEDILAE Y mg/1 < 0.005 = 0.05
kAt mg/1 7.0 = 200
AVYYL TRV LERE)  mg/l 66 = 300
FERIREY mg/1 110 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l 0.3 = 3
pH/E — 6.7 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — HERL BTN
(=N B 0.6 = 5
B E 0.1 = 2
R S R il /ml 0 0 0 0

PV 7 PR Y A

K — [ [ B ] f




SM2EE /IVE™ KERERKR
BRI 5 0KE (JFK) : [FKERK D

T H - AT 45 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.5.19 R2.8.11 R2.11.24 R3.2.19

Rig - Y HAL g E ke

FR K R 6:35 6:26 6:20 8:29 A
EtiT C 17.0 30.0 7.0 0.0

K C 13.0 12.8 13.1 12.3

— XA & /ml 14 =  100f&
K — g N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YLy R OFEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTAARY ROy Ty me/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.56 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
RUF R OZDILED mg/1 < 0.1 = 1
UGl R 3 mg/1 < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
YA V' oty RN A-1,2- JonxFly mg/l < 0004 g 004
Vyaa Ay mg/1 < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
Mooz FL mg/| < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jaugkvh mg/1 = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
B OZEDILED mg/I < 0.03 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 5.0 = 200
Y R OEDILAE Y mg/1 < 0.005 = 0.05
kAt mg/1 9.0 = 200
AVYYL TRV LERE)  mg/l 82 = 300
FERIREY mg/1 110 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l < 0.3 = 3
pH/E — 6.7 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — HERL BTN
(=N B < 0.5 = 5
B E < 0.1 = 2
R S R il /ml 0 0 0 0

I 7 PARY Yy W /201

K — [ [ T A




THEE MNET KERERR

4 (ER) 8 5 K8 (RK) : RKR T3
A

TE H - AL 4 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.5.19 R2.8.11 R2.11.24 R3.2.19

Rig - Y HAL g E ke

FR K R 9:49 10:21 13:36 9:59 A
IR °C 20.0 32.0 14.0 1.0

K C 14.5 19.1 17.5 12.2

— XA & /ml 2 =  100f&
K — R N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YLy R OFEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTAARY ROy Ty me/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.38 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
RUF R OZDILED mg/1 < 0.1 = 1
UGl R 3 mg/1 < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
YA V' oty RN A-1,2- JonxFly mg/l < 0004 g 004
Vyaa Ay mg/1 < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
N JuozFL mg/l < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jaugkvh mg/1 = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
B OZEDILED mg/I < 0.03 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 7.0 = 200
Y R OEDILAE Y mg/1 < 0.005 = 0.05
kAt mg/1 9.0 = 200
AVYYL TRV LERE)  mg/l 71 = 300
FERIREY mg/1 100 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l 0.4 = 3
pH/E — 6.7 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — HERL BTN
(=N B < 0.5 = 5
B E < 0.1 = 2
R S R il /ml 0 0 0 0

PV 7 PR Y A

K — [ A f f




THEE /MNET KEREER

4 H (EX) 8 5 K8 (RK) : FKR T
A

TE H - AL 4 5H 6H 7H 8 H 9H 10H 11H 12H 1H 2H 3H

kA R2.5.19 R2.8.11 R2.11.24 R3.2.19

Rig - Y HAL g E ke

FR K R 9:28 9:59 13:55 9:35 A
IR °C 20.0 32.0 14.0 1.0

K C 13.6 20.2 13.1 7.1

— XA &l /ml 3 = 100fH
K — g N
ALK OFEDILEY  mg/l < 0.0003 = 0.003
HKERFE OZFDILEW mg/1 < 0.00005 =  0.0005
YLy R OFEDILEY mg/1 < 0.001 = 0.01
SR OVEDILAE WY mg/1 < 0.001 = 0.0l
EE R OZDILEY mg/1 < 0.001 = 0.01
ANi/eMEE Y mg/1 < 0.002 = 0.05
LIEl e mg/1 < 0.004 = 0.04
YTAARY ROy Ty me/l < 0.001 = 0.0l
MEIER R R O REER  mg/] 0.30 =< 10
T9F R OZDILEY mg/1 < 0.08 = 0.8
RUF R OZDILED mg/1 < 0.1 = 1
UGl R 3 mg/1 < 0.0002 = 0.002
1,4-Y %4y mg/I < 0.005 = 0.05
YA V' oty RN A-1,2- JonxFly mg/l < 0004 g 004
Vyaa Ay mg/1 < 0.002 = 0.02
Th7yapzFLy mg/l < 0.001 = 0.01
N JuozFL mg/l < 0.001 = 0.01
~Nvty mg/l < 0.001 = 0.01
R mg/1 = 0.6
Jan mg/1 = 0.02
Jaugkvh mg/1 = 0.06
DAVARLE] (i 3 mg/1 = 0.04
V7' eRyunpey mg/1 = 0.1
BRIk mg/I R FCLDER MO T, K TOYIEE OREIZITHR, = 0.0l
Kb Am AR mg/1 = 0.1
N R mg/1 = 0.2
7'aEy Jun sy mg/1 = 0.03
7 BEFRVA mg/1 = 0.09
FVAT VT RN mg/I = 0.08
g K O DAY mg/1 < 0.01 < 1
TIR=DAROZEDEY)  mg/l < 0.02 = 0.2
B OZEDILED mg/I < 0.03 = 0.3
i X DAY mg/1 < 0.01 = 1
FNYLE BZDLEY mg/1 6.0 = 200
Y R OEDILAE Y mg/1 < 0.005 = 0.05
WAt mg/1 10.0 = 200
AVYYL TRV LERE)  mg/l 14 = 300
FERIREY mg/1 40 = 500
B Ay S i A mg/1 < 0.02 = 0.2
VA mg/1 < 0.000001 = 0.00001
2 AF AR VA=V mg/1 < 0.000001 = 0.00001
FEAAY S EIE A mg/1 < 0.002 = 0.02
7z )- VA mg/1 < 0.0005 = 0.005
AEMEARERETOOOR)  mg/l 1.2 = 3
pH/E — 7.0 5.8~8.6
U — JFUKDOBRBRAEIIATDA, BTN e
RE — HERL BTN
(=N B < 0.5 = 5
B E 1.6 = 2
R S R il /ml 0 0 0 0

PV 7 PR Y A

K — i o f A




